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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch by—l-inch by 2 inches.
10 10

1. What is the volume of a matchstick? uQZ&\ ﬂ@‘ﬁ‘b /

Show your calculation.

N2 |

2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. TLLI360 ~/ 2
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch byiinch by 2 inches.
10 10

1. What is the volume of a matchstick? 5 )
Show your calculation.

2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %nrzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.
How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?
Show your work. 4 / 8 q O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

i'nch bylinch by 2 inches.
10 10

1. What is the volume of a matchstick? o(3Z. Ln ‘/

Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. 4 I %‘8 x O
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Matchsticks

This problem gives you the chance to:
» show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch by_Linch by 2 inches.
10 10
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1. What is the volume of a matchstick? / 50
Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %nrzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. g (4 h@" Ck‘ﬁoks X 0
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

L /
1. What is the volume of a matchstick? 50
Show your calculation.

A J——l R = / i
10 50

%lnch by—mch by 2 inches.

2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. | « A O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch byiinch by 2 inches.
10 10

1. What is the volume of a matchstick? 50
Show your calculation.

2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.
How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a

height of 80 feet?

Show your work. s QOOC)C) 0 / A
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately
iinch byiinch by 2 inches.
10 ‘

10 ¢ ‘:.02/

1. What is the volume of a matchstick? 02
Show your calculation.

2. A tree trunk can be thought of as an approximate cone of wood.
The volume of a cone is found using the formula %n-rzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?
Show your work. / 4 / gg/ A 0
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch byiinch by 2 inches.
10 10

1. What is the volume of a matchstick? <Y BEN ‘/

Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %n’rzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. / 2,?615’ X O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes -
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

o1

Linch by Linch by 2 inches.
10 10

1. What is the volume of a matchstick?
Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. 72000 D D ‘/ 2‘
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch by_Linch by 2 inches.
10 10

1. What is the volume of a matchstick? 2 @ Q /

Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. %4' O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

iinch byiinch by 2 inches.
10 10

1. What is the volume of a matchstick? /i@ /

Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %nrzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. Q// ? Cf X O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

iinch byiinch by 2 inches.
10 10

1. What is the volume of a matchstick? J0) 7/ /
Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.
H(?w many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
She your work. ~450060* O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch byLinch by 2 inches.
10 10
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1. What is the volume of a matchstick? « Oa |mm }

Show your calculation.

2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet? )
Show your work. , QL)L A O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

1. 1. .
—inch by —inch by 2 inches.
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oz

1. What is the volume of a matchstick?
Show your calculation.

2. A tree trunk can be thought of as an approximate cone of wood.
The volume of a cone is found using the formula %mzh , where r feet is the radius of the base of
the cone and h feet is the height of the cone.

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
height of 80 feet?

Show your work. L/ I L/ é' C)D * O
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Matchsticks

This problem gives you the chance to:
* show understanding of volumes
* apply your knowledge to a practical situation

Matchsticks are rectangular prisms of wood measuring approximately

Linch by—l-inch by 2 inches.
10 10

1. What is the volume of a matchstick?
Show your calculation.
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2. A tree trunk can be thought of as an approximate cone of wood.

The volume of a cone is found using the formula %nrzh , where r feet is the radius of the base of

the cone and h feet is the height of the cone. ‘/9"\;\3
2\

How many matchsticks can be made from a tree with a trunk with a base radius of 1 foot and a
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